Mathelpers
Add and Subtract 3 - Digit and 4 - Digit Numbers

You may need to regroup when adding or subtracting. A grid can help
you to regroup neatly. Record your regrouping in the top 2 rows.

6

6 |9

You can find the difference of two numbers by writing the digits of
the two numbers in the correct place value order.

To subtract the two numbers 6,000 — 3,475, we will follow the steps:
Round the numbers to estimate: 6,000 - 3,000 = 3,000

STEP |
5 10

Regroup 6 thousands as S thousands, |0 hundreds.

6,4 90

- 3475

STEP 2

9
510 10

Regroup 10 hundreds as 9 hundreds, 10 tens.

6,4 40

- 3475
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STEP 3

9 9
510 10 10

Regroup |0 tens as 9 tens, O ones.

6,4 90

- 3475

STEPY

9 9

510 10 10

Subtract.
6,9 @0

- 3475
2,525

Since 2,525 is close to the estimate 3,000, the answer is reasonable.

Examples:

A- Find the sum or difference.

) 3,567 2) 5895 3) 7435 4) 1,28
+2,682 -4,362 -6,34 +7,027
6,249 1,533 1121 8,808

B-Find the difference.

5) 4,000 6) 12,000 7) 27,000
-2,362 - 9,745 -15,926
1,638 2,255 1,074
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My Redl Life
A- The number of travelers from Dubai airport was 12,652 on Sunday
and 9,38| on Monday. How many persons travelled during both days?

12,652 + 9,381 = 22,033 persons.

B- There were I000 papers in the pack. Sandy used 456 papers. How
many papers were lef1?

000 - 456 = S4Y papers
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